ﬁ g tre decimaler, raekkefolge for operationer med

parenteser
Navn: Dato: Score:
6,52,8+2,2)= 2,5(4,6 +5,4) =
4,1(6,1 +2,6)= 4,32,3-3,7) =
2,93,4—6,6) = (3,8+2,8)x6,5=
4,3(5,7—5,9) = 51,1 +2,3) =
2,8(6,9—-3,2)= 5,5(6,5+4,1) =

www.snowmath.com


https://www.snowmath.com

ﬁ g w tre decimaler, raekkefolge for operationer med
oif ~ parenteser

Navn: Dato:  Score:
6,5(2,8+2,2) =325 2,5(4,6 +5,4) =25
4,1(6,1+2,6) = 35.67 4,3(2,3—-3,7)=-6.02
2,9(3,4—6,6) =—9.28 (3,8+2,8)x6,5=42.9
4,3(5,7—-5,9) =—0.86 5, 1(5,1+2,3)=37.74
2,8(6,9—3,2)=10.36 5,5(6,5+4,1)=583
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